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Read the Following Instructions Carefully (13-l ya-us) wuyds qi)

(1) Please write Roll No., Question Booklet Number, Question Paper Series
Number, Category and PH (Yes/No) on answer sheet (OMR Sheet) without
fail.

(a2 Ass ~i6R, WAL opsde <6, Rauot A <o, 329 w14 Risaia
(81/1) sastadl v SIS uRL %drl e QR iy @vil.)

(2) Each question carries 2 marks. Wrong answer or more than one answer in
one question will carry 33% (1/3 Marks) negative marking.

(835 Usiril 2 9LRL B, vil2L Felol 2l A5 sl AY %alel Hi2 33% el (1/3 del)
AS1RAcHS IR YA V)

(3) You have to mark (e ) the right alternative (A or B or C or D) for each
question in the answer sheet with Blue/Black ballpoint pen only.

(xR aleadlal 625 4 izl 10y [Asey (A aql B sadl C 2«44l D) wiis
59 siefljagoll edaS-2 4 a3 Rfd (o) 539.)

(4) Rough work, if any; be done on the last blank page of Question Paper.
(86 oL 2dd 25 sl wauotl Uk Sl Ay R % sred 284.)

(5) In case of confusion in Gujarati Question, rely on English Question.
English text will be final.

(A dxudl usli [Gar €la dl vide o -l Asel A d-l 4 2R
ALl e eunl dfued w2 wMI 2eud.)
(6) Marks scored by candidate in Paper-II will be counted for the merit list.

(Auz-24i GAgaR Anda dR1 A2 dlemi sty »1adl.)
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Directions for Q. 1-2 : There are only 9 million Hebrew-speakers in the world,
yet Netflix, an online video service company, now offers a dozen Hebrew-language
shows to its subscribers. Most Hebrew-speakers will have already seen them on
Israeli television, but Netflix is betting that, subtitled, they will attract viewers
around the world. Most of the Israeli shows deal with terrorism, espionage or the
Israeli-Palestinian conflict. There is irony here. While Israeli politicians grumble
that their country is unfairly portrayed by the shows, Israeli television producers
are cashing in on their nation’s reputation for spy-mastery.

AL U 1-2 : [qui [8y eldl el qizt 90 vt dlsl % 8, d¥ 9di R2(5aa, s
AL dIRAL Aal Susl, 8d Al dAUBHAIRS ALSSA 215 30 [ SN 515 Y
538, Hlal et (8 ollaiRizi dl 1 s1dsHl Spuadl 2fafamq Gur A o dlul s,
uig 2l sldl © 3, Guallds w13, dil [rqeiu ed s 2isdal. Hlal euoi-l Saiadl
S5l idsale, A 3 SHyda-UA0L dad 29 53 8. wdl asllsa B, s drs
Sl A58 52912 53 O F 2 5153 gL du-ll g vRlet Ad Fdrami 1l
8, AR Suadl 2Rafn Ml du- sa-dl syl saidl we-l ukivsidl ae ad W
SHU S,

1 According to the passage, Israeli politicians are unhappy because :
1. A foreign company ‘Netflix’ is investing in Israeli TV shows.
2. There are only 9 million Hebrew-speakers in the world.
Answer choices :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

L g5 Yo, SuAdl ASIRRAVAL AR & 181 3,

1. s [zell su-dl ‘Aelsaa’ Suadl ddl stisHiui Maa s3 W€l 8.
2. [arani [8y et sla-iRl 1ist 90 vl dlsl % 9.

gale-l [asel :

(A) L1 B) =2

(C) 1126 (D) 1 % 2uidl 23y <l

2 According to the passage, most of the Hebrew-speakers have already seen
the Israeli shows on television, then what could be the primary assumption
of Netflix to re-telecast them online ?

(A) Government of Israel will give subsidy to Netflix for promoting Hebrew
language abroad.

(B) Foreigners audience will watch the shows with subtitles.

(C) Viewers across the world love soap opera shows.

(D) All of the above.

VL §5 HAOL, A M2l MRl (8 ollaiRipl vial Shudl sidsHia 2o

u A % clul €l dl uedl, A2lEaadl axa IS Y UARLL sl wiess(l

wiafis e g €1 ay ?

(A)  Sruudl usR [y curi-l a4l MAR 241 112 Aefsaan Ao 2.

(B) (a2l B&sl 20 sidsHla GuRSl 18 Melaal.

(C)  uuA [2aui ed8n AU 20U 154 A O,

(D) GuRAsd dx
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Directions for Q. 3-5 : Honda's MotoGP bike rider Marc Marquez won his
second consecutive race at the Czech Grand Prix on Sunday with team mate Dani
Pedrosa finishing second.

With light rain at the Barno circuit, riders started cautiously, but as the track
dried down, Marquez was the first to change from rough to slick tyres and it paid
off with the Spanish gentleman gaining a significant lead over his rivals, while
Yamaha's Maverick Vinales completed the race ahead of his team mate Valentino
Rossi, who had led the race from the beginning but a delayed bike change cost
him precious time. Last year's winner LCR Honda rider Cal Crutclow was the last
to cross the finishing line. Aprilia Racing's Aleix Espargaro and Suzuki's Andrea
Iannone's bikes collided with each other, hence neither could finish the race due
to serious injuries.

YA Ul 3-5 : AQAR A5 A= BsA vid €13t syl Hlodl Hle-u18sa Al s LS
W<l Add oflow 4 Bl 20 duel dui el il LA 1 ol $3 20 2y 53,

ol A2 vild saal Qe Alesia AlasLlyds a3id 530, wel Fdl Hiol YsiAl,
vRo3L W3 150l Uil sled-1 AlasiHl Hs<ls uay sdl, A d-udl 24 Al
Ao Auel s3sil 21210 ALl Al HEdl, IR WHISLAL HARS [—-1dd d-L &
A1l dd sl =12l udal 4y 530 ¥ w3l al-l 2ulail 53 edl uig euss
olsadldl (el dx-l BHdl Aasdl edlol dlul. aud ad-l [Agdl 2. Al 2R, €=l Alds
3d gesell il i violoai Seal g, ARBRAL IROLAL A5 AR 244 YR8l
Aeflatl Sl {21 sel sl A1A 204318, Al AHIR SoxleAl 1281 o1 WSl 218
ugL 2 ydl 53 sl Als.

3 Which of the following can be definately inferred from the passage ?

1. During the MotoGP race, players are allowed to change tyres of their
bikes.

During MotoGP race, players are allowed to change their bikes.

3.  Alexis and Andrea met with accident due to slippery track during the
rain.

Answer chocies :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) 1,2 and 3

Busd ss3iell AL UL 56 enioidl As5AUR 41 @oudl asiy ?

1. Aol @ e, Aardzia du-dl Hiex-aissdl- Uil seadlrdl stqudl
AL 21 O,

2. Al R ™A, Halflvia dusdl Hle-adsdl sieddlel il 2uuaimi
2§19 8.

3. AR 2 Al arue e duas el SR8 s HgAL.

gatei-l [aseyl :

(A) ML 1 24 2 (B) L2343

(C) ot 1 2 3 (D) 1,227 3
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4 According to the passage, who among the following definitely belongs to
Spain ?
(A) Valentino Rossi
(B) Marc Marquez
(C) Aleix Espargaro
(D) Dani Pedrosa
Busd §530 Yarol, (1AL UL 5181 ALssAuLL WAL adll & 2
(A) QAdlmi-l AR
B) s usdln
(C) AU YRR
(D) 3l g

5 Who among the following stood fourth in the race ?
(A) Cal Crutclow
(B) Dani Pedrosa
(C) Valentino Rossi
(D) Maverick Vinales
12 UL SieL Rul Al s3 20 ?
(A) 3d scsdl
B) -l W
(C) Adlmi-l ARl
(D) AaRs R-uaa

Direction for Q. 6 : Angelina Jolie is going to try her hand at film-direction for
the fifth time. Her latest project is titled ‘First They Killed My Father’ and is based
on a memoir of the same name written by Loung Ung.

The movie focuses on the personal life of Loung Ung, a little Cambodian
girl during the regime of Pol Pot. Although, previous movies directed by Jolie
have had average reviews, this time she is doing what is closest to her heart : tell
the story of those who were oppressed.

YA el 6 : Bl Al wiaHl AR Bet Rosddui g1y vamidl €L B, drll-l
Adlddy WFsed s ‘s & Bes i s192 © A d aiBol Gor gkl aviidel Anin
dlldsaioll AARs1L 208RA S,

-yl e e 25 Al $260RuA 9153 @Bl Gotrl 2idld a- uR

| Bt usia ur 8. A3 Adl gt Roelld 2ou6l Belld a2 laciidl o Houl gdl,

2L avid ARl 2 514 53 WL B, ¥ dxil eeudl Al AW W : FHAL UR sHA 44 B Al
aldl s&dl.
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6 Which of the following can be definitely inferred from the passage ?

1.  Pol Pot was a communist dictator.

2. Loung Ung's father was sent to labour camp in Cambodia where he
was hanged.

3. Angelina Jolie’s acting skills are better than her direction skills.

Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) None of the given statements

Busd ssiell A UG AssauLl g B qoudl asiy ?

1. Wd W12 s AUl ARYVAIR Sdl.

2. alBolL Gorrl Mdid sl RUML HYR ML Hisaalil 2l dl ol dHA sizll
sl 2udl sdl.

3. Adldl Adl-l 2Ry guadl delll Rosdl su0dl sl ay W 8.

gqlo-il [aseq) :

(A) ML 1 24 2 (B) 2343

(C) a1 24 3 (D) 20l [l W8 239 -l

Direction for Q. 7 : If the engineer made the wing length according to majority
opinion, chances are the plane would not fly. In making economic policy from
setting tax rates, to changing interest rates, to planning subsidies, people have
variety of views. This makes the task much more complex, for one has to combine
economics knowledge with how people vote ! Hence, Economics is a strange
discipline where everyone has a view about how to design an economic policy.
This participation is welcome because it prevents the elite from hijacking all
policies for their own benefit.

JAAL W2 7 A SR Uivill conS opgHcdlzil R qaer oiAld dl 254 8 3 [
BY o g, 2Bl ALl s3cui s 155l sael @, Alped ssaqll @, el
g Yl ALl [~ ddedl €1y 9. 1L elotdl s100A Ay, A ay wled oi-1d 8,
581 3 Al vdaroidl A dlsl 3l Ad dd 2uA d-l 0 Azd w3 !l
Rl A N (R A © ol e3840 2BLs Ul 3ol Aa wzdl 2L 180 Wldl-l 4d €y
8. 2L ASHIPLAL 2uasd B 181 3 d Mg/GRA ol viold @il M a2l
USR8 Sl AL B,

7 The central theme of this passage is
(A) Economics is more complicated than engineering.
(B) The elites misappropriate subsidies and avoid paying taxes.
(C) ‘Economic policy making is a blend of economics and political

persuasion.

(D) Society has failed in educating the ordinary citizens about economic
policy.

21§52l Henadl [_vyarg ® :

(A)  dedaRol v Sl sl ay slea 8.

(B) ®g/62a adlHlL dlsl ARl @il gudlol 52 8 A 52 Ysadld 218 8.
(C)  2ulls Al s3dr 1 vtedaal A ASA AuAnaed Bswe 8.

(D) ALY AL WAl 2R ARl 2190 stid 2uuaml FHsa o)L 8.
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Direction for Q. 8 : When control of the Communist Party of China was in Deng
Xiaoping’s hand, he had few checks on his power. The same was true of the East
Asian strongmen, from Singapore’s Lee Kuan Yew to South Korea’s Park Chung-
hee. Although Margaret Thatcher and Ronald Reagan had to operate within a
democratic system, they had come to power with clear majorities, but Narasimha
Rao did not have this luxury. This handicap had made Narasimha Rao feebler than
any global leader who had embarked on economic reforms.

YA U2 8 : QR 3701 Bl fatel g1adl Al aedalgl yaHl ek edl, AR axd-l
Al uR 3l % ulielt sdl. Riduyr-l dl g2 3 ol @S eel siRaL s 4ai-¢l yHl
yd RAAL wlsaaioll Al B el 210 % At sd. i A 3 ARl AU A
Arlles A dlswl wruelui A 14 sl 8, dil e ergHdl A1 AL el
uid ARRI8AAA 21 A Aldl HoUl. 2L didAD AR(SAA 2URLS JARIBAAL WS
seURL 818 uRl AlRas Adirl qaiml ol el dl.

8 Above passage refers to Rao as ‘feeble’ in context.
(A) Economic strength of China against India
(B) Charismatic strength of Rao’s personality
(C) Parliamentary strength of Rao
(D) All of the above
BuRAsd &5 U AL Aeclil ‘Ao eald 8,
(A) ™R A A4 200 als
(B) ual Alsicasdl uetnamell aisid
(C)  ua-l AAld distd
(D) GuAsd d¥H

Direction for Q. 9 : “I swear to you, sitting on a throne is a thousand times harder
than winning one. Administration is a tedious business and managing the royal
treasury is even worse. And the people ... there is no end of them. I sit on that iron
chair and listen to them complain until my mind is numb. They all want something,
money or land or justice. The lies they tell ... and my lords and ladies are no better.
I am surrounded by flatterers and fools. Half of them don’t dare tell me the truth,
and the other half can’t find it.”

YA URA 9 ¢ “E i AH IS 5§ 9 5, RisIAA U 6lug A Riglud daifly ¢xR01g
Q4R Y23d 8. adlae v As s2L0U%rls AU O 2 W] [ A1 539 d-iell wel
VRIGL A Al ... il S5 vid o Al § d dle vRell v R ¢ A HH ol edR
Wl oy Al Y A2l sRuel Ao 8. d duimn $55 BSH O, Rl viual s x19al
ALY A2 ¥ Y10 58 B ... A HIRL AHAL 2 A~U2A uRL ay A1 . § vanaviRl
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i Yol BRAAEL ¢, ALl 2134l dlsl 1A A s8all [xd sl <2l 2t oflon 2134l
a0l Asdl —dl.”

9 The mood of the speaker is .
(A) Emotionless (B) Bitter

(C) Biased (D) Cynical
asdlel Heleud 8.

(A)  arrly (B)  s3caysd
(C) wawdl (D) assall

Direction for Q. 10 : I touched the wood of the violin. The varnish was scraped
in places. It had been treated unkindly in the past, but that didn’t make it less
lovely underneath. So yes. It had flaws, but what does that matter when it comes
to matters of the heart ? We love what we like. Reason does not enter into it. Any
person can love a beautiful thing. That’s as easy as putting a penny in your pocket.
But to love something despite its flaws- that is rare, pure and perfect.

YAl et 10 : A el alssiel el sdl. well @oua ailFa g1 2l edl. d-l
UG 21410y {d Hawd 48 8dl, uid d-udl a-dl Al awidldl Yedui sl 4@l
“4dldl. M2d 81, dui AR &dl, uig 2R duA @dtdl agi-l dld 2ud, AR A oYl
vl g Mt 7 % 2RI 2§ el AEL AL el adi w922 vag Al
SIS uRl Ulsd Yer axge AL A3 . d ed ¥ AN O wed s Rssl dMRL Prumi
Wsal. uid 519 gl alaall 9di A aledl, d gdel, Yg 2 Ayel 9.

10 The crux of the passage is

(A) We should not try to fix the broken things but love them in that flawed
state.

(B) Some musicians don't treat their instruments with care.

(C) People prefer to love beautiful things.

(D) Unwise love is the true love.

2L g52Uel 33l 8.

(A) U8l dedl Azl &5 sall YA A Sl A5 uig d vHlysd RRalaul
duel U3 sl AT

(B)  3ecls Aolldsil du-l alel-dl simyds Hiaxd sdl .

(C) dlbl e Al UM Sl URde 52 8.

(D)  AHY UH 2 AR A D).
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Directions for Q. 11-13 : Our Captain was a decent man, capable at his job and
still possessed of some humanity despite the hell we’d all gone through — that was
probably why the fate decreed he’d die by an enemy bowman, during some
meaningless skirmish that never made it into the history books and thus, yet
another good man lost his live by the impracticable planning by our superiors
sitting in the headquarters. I got promoted & took captain’s place in the officers'
meeting before the next big attack.

I pointed at the map that Col. Roland had been using to indicate our plan
of attack and said, ‘“These hills are guarded by at least three battalions of enemy.
They’ve held these hills for the last two months, and they’ve been increasing their
soldiers the entire time. A simple statement of the facts at hand should be sufficient
to show that what you propose is, in short, impossible.” But colonel ordered us to
attack, and within three hours most of our men were massacred, and then colonel

ordered the retreat.

Nonetheless, he reported about our retreat as a heroic attempt, and headquarter

promoted Roland from colonel to brigadier. [ learned two things about Roland
Montgomery that day. The first was that his men would follow him off a cliff. The
second was that he would lead them there.
YA WA 11-13 : IR 32l 3s ARL R dll, Wl -AlsTnl siola 2 A o4l
AstolHig]l AR 2ul Sldl 9di, dH-Hl 82 Al Hidddl oSl sdl, 2 sel ed o
{16l 51y, 82 § ¥l sl YLl sA1 H Al dald Al 51 stellA AnHul
avil 215 gouel dliell 818 ¢Ru 24 2L Ad 4y s AR Al DA 2R A3HAS
AAA Gul ARSIAL A8l 2% @ dldl. un oladl 1ol 2 ARGUEL M2l
gral yd xR0 Assui A Fedd 2 Y.

Ao sl uR SARL sAl F el s1d VA= gHAlAL HIR A1 saladl
Gl Al 8l 2 $&1, Vil 2532l gauell-ll 21l 2] ~AR1L o2l glrL &Ll
S A 8. aAu8l Bedl & HEUYL 21 25700 561 3 AL O VA VL dHIH AHY
Aviia Uldidl A Avanl G s34 Al 8. 2L g1aadll sslsdld 2is Alg Mde 3
oldlddl Ygd €ld RS2 3 il ¥ S 1 o, 25U, MASA V.7 Uig $1A gual-il 228
WL A HIL AL SALSHL % MR HI2L MLLAL HIRIRAL RULS 211, IRolle s+ YI9es-l
BB VL

Ay odid, auel 23 IBes 0l vddld Rl Ydet ddd sl 2e
3l AA=A saHidl BOIRAR a3 eadl 2dl. d Rad ¢ Ad=s {-20Hd [N &
opeicl lvdl. udell v 8dl ¥ deil WAL d= LSl 3L YL AAW 24 ol A 3, d

Uld % AHA d S Yl @S .
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11

12

13

According to passage, what was the primary real reason behind the death of

author's captain ?
(A) Fate is cruel on humane and gentle persons.
(B) Enemy had three battalions of highly trained archers.

(C) Senior officials were making impracticable strategies to attack the

enemy.
(D) All of the above.

§53 Yol, Auisl Fedrl Yy ULEsuld UM AlRalds s181 Y 8q ?

(A)  ~Rllet A Hindly v AU AlBd U 42 AU 9.

(B) g WA GRd uRIRA (el ~21 elellaA edl.

(C)  ale s>l gadqt U gual sl vasi3 @il siiadl gdl.

(D) GuAsd dH

From the passage, the personality of the author is

(A) Coward (B) Cautious
(C) Courageous (D) Charismatic
BUASA $5U Yol Avisd Alsda UsRe ©.

(A) RS (B) adAd

(C) [Sudat (D)  ueuaell

Why was the author invited at the officer's meeting ?
(A) He was an expert military tactician.

(B) He was a lieutenant in the army.

(C) He was a confidante of Colonel Roland.

(D) None of the above.

w5 { oL duis L e 2B s gl ?
(A) s g ye-l sdl.

(B)  dxil 214l 215 Agetr2 gdl.

(C) d s1d Ad-z-ll [A2aRqUPL 20ld HIRIY 8dl.

(D) GuAsd Usl A3y 4l
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Directions for Q. 14-17 : Cahir inquired, ‘Forgive me, Dandelion. I glanced out
of pure curiosity. I thought you were creating a map or tallying some numbers’.
‘I’'m not an accountant !’ the poet said, losing his temper and standing up. ‘Nor
am I a cartographer ! But even if I were, you have no right to peep over my
notebook !’

Geralt joined in, “You’ve become very touchy, Dandelion. I believe that it
is somehow connected to the notebook. Every time we camp, you deface its
papers with a bit of pencil. What are you trying to write ? An epic ? A Sonnet ?
or a Haiku ?°

Dandelion lifted the notebook, ‘No. From these notes, will arise my
autobiography. Title - ‘Fifty Years in Service of Poetry.’

Geralt was astonished, ‘But you were admitted to elementary school only
when you were eight ! Even if we allow that you were writing rhymes in school,
you’ve not been serving poetry for longer than thirty years. And you’ve often told
me that you only began seriously after you had joined the Oxenfurt academy on
your nineteenth birthday. That makes it the nineteenth year of your service,
Dandelion. So how did you come up with this title - “fifty years’ ? Is it meant to
be some kind of metaphor ?°

Dandelion replied, ‘I'm writing my autobiography at the height of my creative
powers. Later, just before publication, I shall merely make minor corrections.’
AL WA 14-17 = 518 4oy, Tdad, s 5%, Aol ggsaa § 1z vl sdl.
U Ay 3 dd s sl el WL sdl 5 AisABAAL dlol Hadl WL gdl.’ ‘d S
[snlot{la el 17 Wil Baosas el 2 Gledl a9, sl s&d. % ol § 818 Aswsi!
v ¢ d €16 dl wel W ArulelHi ABY saAL dA s1S 855 Al

dRue dxl AL, Idatadd,; di 2l aeellalla 4 oL ol 1A dEl 9, 3 AR
a dd Ul Al A2 AsNUAA 8. GAUR AUIR R {51 s 12, dA d-L staiul
U[RAanl g5l stengell s €1 el di g @vial-l Yt s3I0 @ L 7 SIS Helsien ? Ale?
5 uedl 15 ?

Tenua el sl dldl, s, e il Rl sucisal o-Hd. s -
stedlefl Aaqrui vy qy.”

e Ay 2y, ‘ULl d¥ AR 26 AdHL Sdl AR % dHA WABLS WMl slve
s 2l 8l | gl 2L Hi-l ad¥l ¥ dA sanl Azsell @vll @l sdl dl uel, dd
Al al sl ay anaell st Aal Aol s3 @ 2 dA 8l AR U 580 3 3l dHRL
20101 B~ HRAY 2154188 AZIHAL AL AR Ul % A dlefldiyds (sl auvidls)
A3 54 8. d-l el A 3 A A i vl ad 8, e, dl vl adl ‘yAin
W’ - g s suiell A vl ? g A SIS wsRY Jus © 7

Jetian oo 1), ‘§ MR ABAIAS Alsail GlRALSH ¢, AR UL sl
avll 8l &5, olleHl WSl Sl usdl, § Wi dHi el YR s’

14 From this passage, what could be the approximate age of Dandelion?

(A) between 45 to 50 years (B) Dbetween 40 to 45 years
(C) Dbetween 35 to 40 years (D) between 30 to 35 years
2L 5520 Yool sl vielld ay g €15 ay ?

(A) 45 ¢l 50 a¥-l a3 (B) 40 ¢l 45 ad-l a=

(C) 35 ol 40 ad-l a3 (D) 30 ol 35 ai-l a3
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16

17

Why is Dandelion maintaining a notebook ?

1.  Every alumnus of Oxenfurt academy is required to do so.

2. He likes to write poems with metaphors.

3. He likes to deface blank papers with pencil.

Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 3 (D) None of the given statements.
Al AR ey s Aadlell madl ws © ?

1. 2isAnge AL e3s oayd [endl2l du 39 2as 9.

2. dun 3usl AR sRdl dudld wis 9.

3.0 aun UlRadl S0 seinl gl sald A 9.

Fale-l [asel :

(A) ML 1 24 2 (B) 243

(C) a1 24 3 (D) 2uldl Radl 44 23y Al

What can be inferred from the passage ?

(A) Cabhir has known Dandelion for a long time.

(B) Dandelion has good command over Sonnet and Haiku.

(C) Dandelion had joined the Oxenfurt academy to become a cartographer.
(D) None of the above.

2L 552wl g i asudl usa 8 ?

(A)  siER aiol avudl Iuadq 2009 o

(B)  3dleiaq Aln2 2 8195 U AIRL 516 4R O

(C) Idalud s A5ASIR olcl 2iLsAAsE AFIHHL AUl €l

(D) GuAsd U4l A3y L]

Dandelion is likely to agree with the following statement(s).
1. It’s impolite to look at other person’s personal diaries.

2. Mental faculties of an author may decline with age.

Answer choices :

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
3da A Maer(-l) Ald A4 A 2 wsd B,

1.2y fsadl viod udlall Adl d 2«1@ds 9.

2. s Quisl weAlus andl qy A 8l aF 8.

galei-il [asey) :

(A) = ] (B) =2

(C) 1 21 2 6iq (D) 132 xidl 85 «dl
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Direction for Q. 18 : The Prefect spoke after a pause, ‘I’ve promised myself that
only law would rule on my turf. At any cost, and using any methods. For the rule
of law is not a weighty tome full of articles, not philosophical treatises, not
peevish nonsense about justice, not hackneyed platitudes about morality and ethics.
The law means order and order means safe paths and highways. It means backstreets
one can walk along even after sundown. It means inns and taverns one can leave
to visit the loo, leaving one’s purse on the table. The law is the sleep of people
certain they’ll be woken by the crowing of the rooster and not the crashing of
burning roof timbers, because for those who break the law - the noose, the axe,
and the red-hot iron await.

YA : U 18 1 352 s [QAn dadq ollel, ‘A W3 d 9 2% © 3 WL Saist
UR UL SIEL AY 5. 1S uRL v, A A5 uRl uglidl Gualal s3A. 5181 3 S1uele
WA 3 S5 Avilll HRL 2l axHsR AU Al Baysldl wsiHold «dl, <y [
A5l ot ell, Alasdl 2 201 A9 geas Mg Adl. s18e1-l 21l © Haral v
a2l 12d YA Wl 2 DML d-l vtel & 1] A1 Yald wedl upL 51 A1l
A3 9. d-il 2d & g v elHlaudl di WidlHdl sledl 260d U H4lA AUl %S
wsl. s1ael dlsi-l d Gl & ¥ wdial g5l oldl wousd, €l 3 andidl ©d-i ¢l uidl
Alsil. 5181 3 ¥l sluel-l 610 53 8 AHA W2 - (sill-L) s, ge13l v AR s2al
AR sl AUS AdL S4B,

18 The Prefect is likely to agree with following statement(s).
1.  Maintaining order is a more important task than delivering justice.
2. Morality and ethics should be included in the school syllabus.
3. If a goal is noble, then purity of means is unnecessary.
Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 (D) All of them
Wi3se-{l 1A Mag-(-)) A1A dAud 21 A asy .
1. =Y vudl SRl Al aadl 20 ay qewad s 8.

2. Alsdl e Aot W ACAASHAL elvd sl BLS.
3. ol Ay Guel O, dl ugl AYls Bz ©.

galei-il [sel :

(A) AL 1 ¥A 2 (B) M2 ¥ 3
(C) ML 1 24 3 (D) dxw

Directions for Q. 19-21 : Journalist : "Sir, I would just like to know that given
the recent global events, do you expect an appreciation of rupee ? And if there is
an appreciation in the rupee levels, what do you think, how is it going to impact
our exporters ?"

Dr. Raghuram Rajan : "I think it is a fool’s game, even for the Reserve Bank
to predict what the medium term value of the rupee will be, I recall this theory
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by Kenneth Rogoff that it is really impossible to predict exchange rate levels and
we typically can tell a good story in hindsight of why the exchange rate moved
the away it did, but it is very hard to predict.” Although, having said that, the
general theorem which governs exchange rates is the Balassa—Samuelson theorem
which says that emerging market currencies appreciate in real value terms over
time for all the reasons that Balassa—Samuelson have pointed out, but I do not
want to give you a lecture on that here. Basically, most emerging markets have
followed that route as they get richer and I do not see a reason why India’s case
should be any different."
QAL 1 WA 19-21 1 WosiR ¢ AL, § AL 2 2RIl HIRL ¢ 3 diFdR-l APus me-iila
21 ddl, 4 204 AL 1ol 20d d-l e AviL L ? 21 2 3L ™ Haeld]
U dl d 2Bl FSIRASIRL YR 3l 2R 58 d elleld 20 9 [QARL )L 77

. AN AR : 3Rl Hed dnoml Bud g 8 dsd I 529 A And s
Wi ugl 3is Yol ud 8, 2d ¢ QA1 ¢, U 34 sl L3 de 204 8 3
[l e 2R+ 2100l sl HAUR BasA © 2 AR waAldad] Ad 20wl 0kl
sul 530 sl 3 MUY ek Fdl Ad vl 8dl d 3 vl 8dl. uig dd yalduiq sq
vo o Yase 8.7 %l & il sldL uedl, MM e AALEA Sl AL UHY D sl
AR WY, ¥ 58 O 3 GlotRcll o1 AARL AHA A1 AR lds yeudl {Ad weed 2y
8 Fll ML SR80 sl A Rlad s 8. url § BAL du d [ -
wual Al Hidtdl. gsui, Hl21eolnl GloRdl Gl FH FH AYG YA W, d W AUL D,
2 Gldel Bl al Hi2 (Queiell) e 2 dd 1A S8 s1ReL suiig el

19  According to Dr. Rajan :
1. The appreciation of rupee has made India richer.
2. Rupee will appreciate as India grows as an emerging market economy.
Answer choices :
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
3. AW Hd
1. 3l 1oodlal HRdA Ayg o ©.
2. B FH HRA A5 GleRdl 6o weddat dld [sa 29, dd du dd 3l
Hoyd U9,
alei-iL [asel :
(A) =L 1
(B) #I= 2
(C) 1242 6iq
(D) 1 %2 Hiedl 81 <l
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20

21

Kenneth Rogoft’s likely to agree with following statement(s).

1.  It’s possible to forecast the exchange rate of a domestic currency against
foreign currency.

2. If exchange rate data is available, it is possible to diagnose the causes
of fluctuations in it.

3.  Balassa—Samuelson’s theorem is not always valid in real life.

Answer choices :

(A) Only 1 and 2

(B) Only 2 and 3

(C) Only 1 and 3

(D) None of them

34 Ao0s A FMae(-l) 012 Aud 21U 4 4s4 D,

1. [zl age 3 s agpi-l [RHY gl 2100€l sl sy ©.

2. o [RuA e+ 321 Guasy €1y, dl d-iui a4se gdl-dl sl Meld 539
USY 9.

3. SlARL-AYAAA WA ARdAls @adul dnal AR .

Fae-l [asey :

(A) ML 1 242

(B) 22 ¥ 3

(C) M1 A3

(D) Au-l U4 A3y Al

Whom is Dr. Rajan referring to as “Fools™ ?

1. Journalists who ask silly questions during press conferences.
2. Exporters who are worried about the appreciation of Indian Rupee.
Answer choices :

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

. %A S Al adld eiy © ?

1. WaASIRA 3 2l YA S1ws el yuilHlowl wsdl ye ©.

2. FsusIR 3 3l Hkdly 3l waodl 2100 Rilad ©.

FaleHl [aseyl :

(A) a1

(B) =2

(C) 1A 2 6

(D) 1 %2 wiell 2134 dl
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Direction for Q. 22 : Halfway through college, and still confused, I decided to
become a tax lawyer. It seemed like a good career choice. But, when I sat in the
first lecture, I was stunned by its complexity and lunacy. 1 barely passed the
course.

Like most small-town lawyers, I dreamed of getting a big case, and in 1984
it finally arrived. But this time, the case wasn’t mine. As usual, I was loitering
around the courtroom, pretending to be busy. But what I was really doing was
watching a trial. The case was about a young girl who had been beaten and raped.
Her testimony was gut-wrenching, heartbreaking and riveting. Every juror’s eyes
were moist. | remember staring at the defendant and wishing I had a gun. And like
that, a story was born. That night I inserted a page in my typewriter, and “A Time
to Kill,” was finished three years later. - Novelist John Grisham.

YAl 2wl 22 ¢ sldwul T Yl udi uedl, i 8 uRl Yosldl, A 59U Asle eirdle
4551 4. d IR0l Ml 28 AR [QAsen @edl. yel, § QAR udal Arvalul 6lél, § d-l
leadl i alizuil vuadABd A Al edl. A 1AL d S i sl

AlAl-ASRAAL 21t aslel-l ¥, S5 Hlal 3 1ol My Adl e § Ad), A
198441 A (31) 20u? 2l uig 21l Aud, 21 34 WA A edl. sl ¥4, § A3+
AU M25cl cll, Ul WAL &l0L scdl. UBL WRUR dl § uelddl stdaidla el
A 2@l Sdl. 3 s Yalr 153 oleld 8l 3 FL HIR WA OISR AARAML L)
sdl. dRll-l goi-ll Aid3l HAdl A ddl vdd gute, esdglas v sAHAL AU adl
sdl. 9yl 25 Ael vl oIl 2 01 adl. uA e B 3 € uldalel ds dlélA Sl
@l 8l 3 WL WA A8 oigs Sld. v 2L Ad, 25 aldl =l d A A 2iduASeWL s
SPLOL MR 2, 218l A8 ‘a2 g e ydl af - daasaisiz i Alan.

22  Based on above passage, John Grisham is likely to support
1.  Simplification of tax laws.
2. Vigilantism : To punish someone without the authority of law.
Answer choices :
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
BUAS 55U Yaol, sl Alun o uHd S d wsU B,
1. 5QAAL s8> A00581.
2. [awaidlen @ siesld Ad RS9 A s:dl d.
galal [asel :
(A) A1
(B) ™2
(C) 14 2 6iq
(D) 1323l 819 A€l
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YA 2 w2 23-24 ¢ aluinl YUl 24 A2+l ud ulau-l Ras yaor, A
& sl GRedRl 2ide eurmidl A Al ARl e 8. L wlAl xudl
piqale WURHL UL 209 €], iBwUl % s Al GReAlR dlel uie sl
cRE

23  What is the context of the word ‘allied’ in the following sentence ?
“Skilled craftsmanship allied to advanced technology produces far reaching
results in any industry.”

(A) Allocated to (B) Friendly towards
(C) Related to (D) Combined with

24  What is the antonym of ‘audacious’?
(A) Astute (B) Polite
(C) Insolent (D) Silent

25 In aroom, there are five persons P, Q, R, S and T. One of them is a football
player, one is a chess player and one is a hockey player. P and S are unmarried
ladies and do not participate in any game. None of the ladies play chess or
football. There is a married couple in which T is the husband. Q is the
brother of R and he plays neither hockey nor chess. Who are the three

ladies?
(A) P,Qand R (B) Q,RandS
(C) P,RandS (D) Data inadequate

25 3441 P, Q, R, S 217 T wlidel a0l 9. d Udl 3is geolld valdl 8, s Ax
Haldl 9, v A5 S AAL 8. P 24 S 3 2aAlBd Hsalzl 8, 214 Al §1S
WaHl @il Adl Aell. 185 weL Hlsal A 3 seolld Wdl 1l 215 yara [Qallsd 8,
L Tuld ©. Q A Rl S 9, i o« cdl 15l A O, A ol AA. ol 21 343l
819 2181 (Bl S ?

(A) P, QA R (B) Q,RxaS

(C) PR S (D) [a21dl 2tual 8

26 A party is organized by father, mother, four sons and three daughters. All the
sons are married and their wives are present in the party. All the daughters
are married but their husbands are not attending the party, then how many
females are present in the party ?

Rudl, 3idl, AR Yol 24 2190 Ylloill gll 28 wdl 20lsa sami sudl. ol
glsuilAl @ 4 UL 9, A Al uellall Wi 1R 8. ol €530 [Rasa
8 uig ddel Wl Wil s1or Adl, dl Wi g1 ulsal Asdl 3edl ?

A) 9 B) 8

<€ 7 D) o6

CSSC-GS-II-PKL-2017_A | 16



27

28

29

30

Dinesh walks 5 km towards south, then he turns to his right and walks
10 km. Then, he turns to his left and walks 5 km. Then he walks 10 km
towards east. How far he is from his starting point and in which direction?
(A) 5 km, Eastwards (B) 5 km, Southwards

(C) 10 km, Eastwards (D) 10 km, Southwards

A 5 Bl sliel Bal drs d ©, d udl d uldidl @uell euy asll
10 B3l 20 8. ugdl d ldill 3ol drs adll 5 Bl 20d 8. uel d yd ds
10 Bl 04 9. dl d Wdidl WRs Bigdl 3ed g2 2 9 [l ¢dl ?

(A) 5 B, yd dzs B) 5B, el drs

(C) 10 .M., yd dzs (D) 10 AL, eltwl dzs

There are five friends standing in a row facing south. Jayesh is to the
immediate right to Alok. Pramod is between Bhavesh and Subodh. Subodh
is between Jayesh and Pramod. Who is standing in the middle ?

(A) Subodh (B) Jayesh

(C) Bhavesh (D) Pramod

eBRL dRs Hl Av(lA 215 AN v Bl Gl 8. A9 3 2udlsl vised 3Rl
8. uHle 3 Gl A Yolladl a2 9. Yoy 3 AU A wHlesdl a2 8. dl qul
slelL Gle © 7

(A) yely (B) 2da

(C) euda (D) uMle

Ramesh ranks 12th in the merit list of 35 students. There are only seven
students below Suresh rankwise, then how many students are there between
Ramesh and Suresh ?

35 Rendl>i-l 912 efleni W 2 1241 $3 8. Y-l {13 375 Yool $5d Ald
o [Qenell2il 8, dl A A YA 92 deal [l © ?

(A) 19 B) 17

(C) 15 (D) 16

X is greater than Y. Y is smaller than Z. Z is greater than W. W is smaller
than X. Which one of the following inferences can be drawn from the above
statements ?

1. X is greater than Z.

2. W is greater than Y.

Answer choices :

(A) Only 1 follows (B) Only 2 follows

(C) Both 1 and 2 follows (D) Neither 1 nor 2 follows
X3 YARNAS. YA ZAANS. ZAHA W HAS., Wl Xl sl 8.
e Mgl AR (1A Ul sui Fssd 1] asia ?

1. XaZd a8,

2. WaYd a8,

Fale-l [asel :

(A) ot 1 24U (B) A2 AU ©
(C) 1272 6id AqAT B (D) 1 27 2 Ul A3y ARG el
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31

32

33

34

Three ladies x, y and z are married to three men a, b and c. x is married to
a. y is not married to an engineer. z is not married to a doctor and a is a
lawyer, then which of the following statement is correct ?

(A) vy is married to ¢ who is an engineer.

(B) =z is married to ¢ who is an engineer.

(C) x is married to a doctor.

(D) None of the above

AR H[SelBL X, y A z 3 2810 Yl a, b A ¢ A1 wRIdL 9. x-ll @0 a Al
23 8. y 2 9% AlA @ A2l sul. z 3 Jise A1 @ Al sul w17 a w5 asla
8. dl ugl 13 Ul sy Mdeq A1 S 7

(A) yalcuduwRdl & 3 ¥ s S 8.

(B) z ¥ c A R O 3 ¥ s S 8.

(C) x s slsdR A1 udl 8.

(D) GuAsd U4l A3y L]

In the pattern 1, 4, 27, 16, (?), 36, 343,..... the term marked with “?” is

1,4,27,16,(?), 36, 343,..... L A8(3i dartidl Pugrell B adqve &,
(A) 30 (B) 49
(C) 125 D) 81

Pointing to a man in a photograph, Rohan says to Rekha, “His mother is the
only daughter of your father”. How is Rekha related to the man in the
photograph ?

(A) Sister (B) Mother

(C) Wife (D) Daughter

s olluirl Yl AR 2idtofl A, Aeet A 5 D ¢ Q@ (yr)+ll Ml R
dHIRL [dltll 215 3t Yoll 9.7 dl il ool 2ulidl YN A18 g Aely 4 S ?
(A) ol8q (B) ™ldl

(©) ncll D) wl

Four men a,b,c,d and four women w,X,y,z are sitting around a table facing
each other. Further, it’s known that no two men or no two women are sitting
together. w is to the immediate right of b. y is facing x and is to the
immediate left of a. c is to the immediate right of z. Who among the following
could be the two persons sitting immediate adjacent to d ?

(A) wandy (B) xand w

(C) xand z (D) wand z

IR Yt a,b,c,d 2 AR HRAID w,X,y,z 215 2NOUSIR 261d U AL AL 6161 ©.
Ayl 2 uel id B 3 4185 uBL 6 Yl 3 1S url oL wlsalll sl 4l slsl. w
B bell drd 2Rl SRAA . y 3 x+{l A 21 asll dd 318 GRAA 8. ¢ Azl dd
gl . dl 1A UGlL S0 & dl dd 26l QAL e ?

(A) WQ»Hy (B) X A W

(C) xudz (D) wd z
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35

36

37

In a wall clock, how many times does the minute hand coincide with the
hour hand in a day of 24 hours ?

25 glald alRuoel AdlA sais s Bausi MMesial 3 sassial aa sedl ar
25 il wdl e ?

(A) 24 (B) 22
©) 21 (D) 23
L. All pencils are swords.

II. Some swords are blunt.

Which of the following can be concluded from statement I and II ?
(A) Some pencils are blunt

(B) No pencil is blunt

(C) All pencils are blunt

(D) None of the above

L did URd daaiRl 8.

I 245 daaRl 4gl 8.

Mg I 2 Taill 02 WSl s Fasd 1l asiu 8 2
(A)  3edls Wlndl o6l ©

(B) 34 u[Aua ol <l

(C) i Rl odl &

(D) GuAsd U4l A3y L]

Statements : Some cats are not dogs. No dog is lion.

Conclusions :

1. Some cats are lions;

2. Some lions are cats.

Answer choices :

(A) Only conclusion 1 follows the statements.

(B) Only conclusion 2 follows the statements.

(C) Both conclusions follow the statements.

(D) Neither conclusion follows the statements.

Maesdl : 2138 Bendlal 2 dl. 239 2 Ris <el.

(sl

1. 238 Badlsi Ris 8.

2. uys RSl Badl ©.

gaei-il [asey) :

(A) A Frsd 1 MagdlA AR &
8

-~

(B)  ul [ 2 Hadgedln AR

~

(C) ot s Magdld v 8
(D) 3y sl Mdedln g ol
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38 An 8 feet long steel rod is cut in such a way that one part is 3/5t of the
other. If both the pieces are cut again in the same ratio, then what is the
difference in lengths of the shortest piece and the longest piece ?

(A) 16/15 feet (B) 2 feet
(C) 3/8 feet (D) None of the above

8 g2 aloll ¥laxl Aolluin Adl da stuarii 2ud 8 ¥ s ool ol el 3/5
Feell 8. % ol 2531l $3 2 o dRITRUL st 2Ud & dl, Alel 512 Al
aiotl 253l deldil g dstad © ?

(A) 16/15 g2 (B) 2s2

(C) 3/8 g2 (D) Gu-AL UL A3y -3

39 The sum of the present ages of Geeta and Babita is twice the sum of their
ages 7 years ago. What is the product of their present ages, if the sum of the
squares of their ages, 7 years ago, was 100 ?

Alel 2 ifotdlel 1l Guel A dn-l 7 ad usaidl G-l AL sl
o 1Rl 8. ol dxl 7 ad udaidl GurrL 4oll-l A0 100 dl, dl dx-l sia-l
Gu-l oRUSIR 4 © 7

(A) 195 (B) 180

(C) 200 (D) 164

40  Six pipes can fill a tank in 1 hour 20 minutes. How long will it take to fill
the tank, if only five pipes of the same type are used ?

(A) 1 hr 20 minutes (B) 1 hr 30 minutes

(C) 1 hr 36 minutes (D) None of the above

9 oL WU g 2igla 1 sdls 20 FHeHl P a3 8. 2 d o usiR-l Hxt uia
uiSueAl GuAlol ML U, dl 2i8lA ¢RaAML dedl uHy @l ?

(A) 1 sais 20 Mf+e (B) 1 sas 30 (M[+e

(C) 1 saus 36 MMe (D)  Gua~iL WSl 23y s

41 The average age of a husband and wife at the time of their marriage was
25 years. A son was born to them exactly 2 years after their marriage and
the average present age of all three is 24 years. How many years have passed
since the couple got married ?

s Ul 2 d-ll uedll-l AU GHR du-l @ont AnA 25 Qi 8dl. Al @oil
o161 2 A uedl AHA s Yolrll %4 Udl e Slani 2 AR Gur+ll A1 24
ad U B, dl dHHl @ U1 32dl Al uAR AUl ?

A) 8 B) 5
©) 6 D) 4
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42

43

44

45

The price of a bike has been decreasing every year by a constant percentage
over the last 4 years. If four years ago, the cost of a bike was Rs.1,50,000,
and now it costs Rs. 98,415, then find the annual percentage rate of decrease.

(A) 8% B) 5%

(©) 10% (D) None of the above

s HleRUsAl Brd deal 4 il Add 28 o 2stal-l e 8l €L V. 2 AR
ay udal 21 Headsa-dl BHd 3. 1,50,000 dl 244 v d-l Bud 3. 98,415
8, dl 213l sl e L.

(A) 8% B) 5%

©) 10% (D) Gu-L UL A3y -8

Ravi and Rajesh are running with speeds of 30 meter/second and
20 meter/second respectively, around a circular track of 600m in the same
direction. If both started running at the same time, then what is distance
covered by Ravi when he passes Rajesh for 21 time ?

(A) 1200 m (B) 2400 m

(C) 2700 m (D) None of the above

AQ A uFA gsA 30 Hl2As3 A 20 Hle/AsHl 33U, 600 HlerAl s
ANALSIR 25 BUR s o Rl €14l @ V. A ol 3 s o AHA L3ald 3 53 €A
dl, o2 A FAA ol WR 53 oA © AR AWM 32g dR sy s ?
(A) 1200 Hl. (B) 2400 Hl.

(C) 2700 1. (D) Gua~iL WSl 23y s

How many six-digit telephone numbers can be allotted using digits 0 to 9,
if each telephone number starts with “79” and no digit appears more than
once in a given telephone number ?

B e3s edlsld «doR "79"AL wisdl A3 Adl €lU A sl wdd 2§l
6141 8185 uRL s s visdl Ay Avid A Al €14 dl, 0 4l 9 2isl Gyl s34
9-aAisslala Fadl edlsin Her siadl sy ?

(A) 1600 (B) 1680

(C) 1800 (D) 4000

A three-member committee needs to be selected from a group of three men
and four women. What is the probability that the committee will consist of
at least one man ?

AR YMUAL s %A A AR UL s ganiell vie 3 210l ueAl-l s
AME otlaalll 232 6. i ABAL 2011 2091 215 YW AGY Sl Aeuasl
el © 7

(A) 1/35 (B) 12/35

(C) 31/35 (D) 33/35
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46 A part of monthly hostel charges is fixed and the remaining depends on the
days one has taken food in the mess. Kavan takes food for 25 days, and he
has to pay Rs. 2200 as hostel charges, whereas Kavita takes food for
20 days, and she has to pay Rs. 1800 as hostel charges. Find the monthly
fixed charges of this hostel.

(A) Rs. 150 (B) Rs. 200
(C) Rs. 250 (D) Rs. 300

UAdAl MRS vAHL 25 ¢l MBd O 9 olsl-l ¢IdL 1S s alsa
el Fedl Bay el dly €1d d-l YR 2UURA B, sa4 25 [Ray ¥d 8
2 d8L 3. 2200 wrlaunl sa A ddd Asadldl 2 8, oR sfdl 20 Ray o
8 A arllzd 3. 1800 wlruadsl gt w2l d3 ysadi-l A 8. il iladsdl M
HiRs Al 54 2L

(A) 3. 150 (B) 3. 200
(C) 3.250 (D) 3. 300

47 A circle is drawn inside the triangle ABC in such manner that it touches all
the sides of this triangle. Measure angle B is 90 degrees. If AB=5cm and
BC=12cm, find the diameter of the circle.

(A) 2cm (B) 3cm

(C) 4cm (D) 5cm

Bisiel ABCHL »ig2 218 ada Al d ela™i 2ud 8 3 d Busiaidl oYl o sugia
WA B, vRl Be 1id 90 a8, % AB =5 A3l 11 BC = 12 A1 €l dl, aga-l
SN

(A) 232 (B) 3aAl

(C) 43 (D) 53l

48  The population of a city was 20,000 at the end of year 1997. It increased at
the rate of 5% per annum. Find the population at the end of the year 2000.

A5 AL axcll ad 19971 2iani 20,000 edl. wliad dxi 5% gqle as. ad
2000+ ¥id axdl 3eefl s ?

(A) 23153 (B) 23150
(C) 23100 (D) 23000
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50

Chandrika went to a mall to purchase some pants and skirts. When her
friends asked her what she had bought, she answered, “The number of skirts
is two less than twice the number of pants purchased. And, the number of
skirts is four less than four times the number of pants purchased”. Help her

friends to find how many pants and skirts Chandrika bought.

(A) 1 pant and 2 skirts

(B) O pant and 1 skirt

(C) 2 pants and 0 skirt

(D) 1 pant and 0 skirt

255l 245 Uz 2 el wdlel e 28 Al . R dell-l Bl yoy 3
asllat g wdlel 530, avllat el 21l ‘‘sel Aval wsa Uredl Avalsl o4zl
sl 6L el B, 2 s+l AvUl wza Uresdl AR ARIL Scdl AR el 8.7 dl
(3512 32l Ure A e vidlan d Al M2 d-l Bl wee s,

(A) 10~ v 2 %2

(B) 0 Ux2 ¢ 1 28

(C) 2 U2 A 0

(D) 1 9~ 2 0 e

The ratio of monthly incomes of Manju and Maya is 9 : 7 and the ratio of
their monthly expenditures is 4 : 3. If the annual savings of each of them is
Rs. 24,000 annually, find their incomes each month.

(A) Manju : Rs. 9,000 and Maya : Rs. 7,000

(B) Manju : Rs. 18,000 and Maya : Rs. 14,000

(C) Manju: Rs. 27,000 and Maya : Rs. 21,000

(D) Option (B) or (C)

1y 2 {1l HURS a8l 2R0HR 9 1 7 i dilAl MRS WAL Rl 4 : 3
8. ol dxHidl udsl Alls oiad 3. 24,000 €U, dl dui-l e HE-Al uas
2.

(A) % 3. 9,000 2 ML : 3. 7,000

(B) % :3. 18,000 i H = 3. 14,000

(C) ™% : 3. 27,000 A= *aL : 3. 21,000

(D) [asew (B) 244l (C)
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